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httB://farbe.Ii.tu-berlir;.de/CEJ4/CEJ4LONA.TXT /.PS; only vector graphic VG; start output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

uy=(\ — 550) / 502

logM = -0,35L)\~u ]2
|Og Lo = —0,35[.1)\—U570]
_ Adaptation: A\;.=557

==
99

e, maximum
log(L m)=-0,02
Lm=0,95
Threshold
tz=0,00

uy=(A — 550) / 502
logM = -0,35L)\~u ]2
log =-0,35u\-u ]
Adaptation: A, =570
570

maximum
log(L m)=-0,08
Lm=0,81
Threshold

uy=(A — 550) / 502
logM = -0,35L)\~u ]2
log =-0,35u\-u ]
Adaptation: A, =570
570

maximum
log(L m)=-0,08
m=0,81

Threshold

u=( = 550) / 50,
log©, = -0,35u)\—u ]2
log  =-0,35u\-u ]
Adaptation: A =570

/NN

maximum
log(Lm)=—0,35
Lm=0,44
Threshold
tz=0,00

uy=(A — 550) / 502
logM = -0,35u\—u ]2
|Og Lo = —0,35[.1)\—[]570]
Adaptation: A, =557
557570 maximum
log(L m)=-0,02
L m=0,95
Threshold
t5=0,00

uy=(A - 550) / 50,
logM o= —0,35\~Us.]
log =-0,35u\—u ]
Adaptation: A, =570

maximum
570 log(L m)=-0,08

L m=0,81

Threshold

uy=(A - 550) / 502
logM o= —0,35u\~Us]
log =-0,35u\—u ]
Adaptation: A, =570

570 maximum
log(L m)=-0,08
L m=0,81
Threshold

uy=(\ — 550) / 50
log©, = -0,35u\—u ]2
log: =-0,35u\—u ]
Adaptation: A =570
maximum
log(L m)=-0,35
Lm=0,44
Threshold
=0,00

Ur=(h - 550) / 50

logLo = —0,350\~Us7d
Adaptation: Ay, =557
57570

maximum

Lm=0,95
Threshold

600

uy=(A — 550) / 50
logV o= —0,35L)~Us4]
log =-0,35u\-u ]
Adaptation: A, =570

570

maximum

Lm=0,83
Threshold

Uy=(A — 550) / 50

log V.= ~0,35[1y~u.J5

Lo=L /0,83 log =-0,35u\—u ]
Lo, L:, Mo, Adaptation: Ay =570
570

maximum

Lm=0,83
Threshold

u=( - 550) / 50,

log  =-0,35u\-u ]
Adaptation: A =570

maximum

Lm=0,49
Threshold

logV o= -0,35u)\~u ];

log(Lm)=-0,01

uy=(\ — 550) / 502
logM = -0,35l)\—u ]2
|Og Lo = —0,35[.1)\—L|57o]
Adaptation: A, =557

557570 maximum

log(L m)=—0,01
L m=0,95
Threshold
120,10

Vv
1(Mo-V)

log(Lm)=-0,07

600

uy=(A - 550) / 502
logM o= -0,35l)\—Us.]
log =-0,35u\—u ]
Adaptation: A, =570

570 maximum

log(L m)=—0,07

L m=0,83
Threshold
t2=0,10

log(Lm)=-0,07

uy=(A - 550) / 502
logM = -0,35l)\—u ]2
log =-0,35u\—u ]
Adaptation: A, =570

570 maximum

log(L m)=—0,07

L m=0,83
Threshold
t2=0,10

log . = ~0,35[1-u- ]

log(L m)=—0,30

U=( = 550) /50,
log©, = -0,35u\—u ]2
log: =-0,35u\—u ]
Adaptation: A =570

maximum

CEJ40-8A

TUB-test chart CEJ4; Elementary colour vision;

lin[Sensitivities and difference§MS-R2%E(545,55
Y

CEJ41-7A
CEJ41-7N

resr@d,oo (left) and 0,10 (right),
570), (545,570,595), (520, 20)
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